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Schulzimmerboden: etwa 2/3 einer Are

3a
1091 a
506 a
10 a

852 a

47 a
758 a
366 a

865 a
7276 a
5a
792 a

976 a
427 a
6 a
18 a

25 m?
15 m’
30 m?
50 m?

80 m’
15 m?
75 m?
65 m?

Rechnen mit Aren und Quadratmetern

+ + o+ o+

+ o+ o+ o+

12 -
15 -
11 -

15 -
13 -

11 m2
14 m2
20 m2
23 m2

4 m2
7 m2
1 m2
18 m2

+ 4+ o+ o+

+ o+ o+ o+

192 a
614 a
281 a

5a

650 a
218 a
350 a
733 a

1999 a
1084 a
1268 a

309 a

386 a
336 a
790 a
627 a

7250 a
2609 a
3950 a
1143 a

524 a
4619 a
509 a
8026 a

30 m?
55 m’
50 m?
30 m?

40 m?
45 m?
90 m
70 m?

20 m”
14 m’
14 m?

5 m’

12 m’
10 m?
13 m’
23 m*

19 m?
16 m*
19 m?
7 m?
3m?
4m
14 m
16 m?

2

+ o+ o+ +

+ o+ o+ o+

195 a 55 m?

1705a 70 m?

787 a 80 m’

15a 80m?

1503 a 20 m?

265a 60 m’

1109 a 65 m?

1100 a 35 m?

5997 a 60 M’

13009 a 68 M’

19022 a 10 M

3399 a 55 m’

3088 a 96 M’

1344 a 40 m’

11851 a 95 m’

8153a 99 M’

541a 21m’
440a 5m
378a 4m’
713a 5m’

877a 18m’
316a 8m’
918a 4m’
420a 11m?

2

527 a 45m’
239a 5m’
630 a 40 m’
266a 65m°

35 m’
75 m?
85 m’
35 m?

86 a
943 a
616 a
974 a

N

Spezial-Arbeitsblatt Ernst Giger

8656 a 51 m?

10325 a 35 m’

4333 a 43 m?

2648 a 35 m’

2377 a 25 m?
5362 a 19 m?

1433 a 19 m’

8464 a 45 m?

+ + o+ o+

+ o+ o+ o+

6 12 -

13 -

344a 30m’> = 87la 75m?
88a 20m* = 327a 25m’
212a 25m’ = 842a 65m?
613a 80m?> = 880a 45m?
25a 90m® = 112a 25m’
12a 60m?> = 956a 35m?
11a 8m?> = 628a 70m?
436 a 25m’> = 1410a 60 m’
700a 1m° = 8400a 12 m’
523a 10m° = 1046a 20m°
116a 1m’ = 928a 8m
906a 17m° = 3624a 68mM°
1075a 20m2 = 9676 a 80 m2
1221a 6m2 = 2442a 12 m2
585a 10m2 = 7606 a 30 m2
344a 19m2 = 2753a 52m2
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